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Unless there is a sufficient amount in it in order to cause it to leaven

OVERVIEW

The mwn (cited here) is discussing a case where two batches of sourdough (MRW),
one of 171 and one of nmnn fell into a dough; if neither (alone) can leaven the
dough, 71¥°%% " maintains that we follow the last MKW that fell in (and leavened the
dough), however the 2’51 maintain that the only time the dough is 2% MoK (on
account of the 7m0 5w MRY) is when there is sufficient 77190 Y2 MIRW to be yonnn
the dough by itself. m»doIN clarifies this ruling.
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The explanation of the phrase y>»nn% >15 12 X°Ww 79 is that it is forbidden only if in
the prohibited 1xw (the KXW of 7m1N) alone, there is v°n772 >73, but the Hw MNRWw
7077 (alone) cannot be yann the now; for if there is y9%r7% 972 both by the IXW
T70°R 7w and also by the 207 5w 2w individually, the X''2w1 maintains that the
dough will be permitted (since the 9n°71 5w MXw alone can also be y>amn the 7o°w).!

mooIn proves? his point:?
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For we learnt in a Xn>92 in the last =9 of "' noon -
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‘“nxw of 71 and XY of 7210 which fell into a dough and this one ( 5w XY

1"2117) has 7521775 972 and this one (772770 YW MKW) has yonnmh 97 -
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And they made the XY into y%n, the dough is 990K and w''9 is 9°n% the dough’,

!'It would be a case of 3"177 (the MRW of the N7 and the XY of the Mo°X), and the 051 maintain A"17 is .
2 This is according to the "w7n and his X071 (as stated in our MoOMN) of "91 P11 'X77. However the X"wain
disagrees and maintains that m2o1n is asking a question and is 131 'P7927 X' 0713 See footnote # 4.
3 moon needs to prove that A"N7 is M, even though we already know that the 051 maintain "1 is 7% (from the
case of 1XV W 12 WM 12 [see 12 1"7 2,30 MdOIN]), for it is possible that the 0°mon maintain 70 A"M7 only in a case
where neither the 7n°77 nor the Mo°R alone can accomplish the task (like in the case of a 71N [where we need both the
TN and the 2%y to bake the bread]), there we can understand why 3"117 is 2N since the 7oK alone cannot
accomplish the task, but in a case where either the 2n°7 or the M10°R can accomplish the task (to be y*nnn the no°w)
one can argue that even the 0311 agree that in this type of 3"17 it is MK, therefore N0 proves from the following
Xn>12 where by each one there is Y12 *72 and nevertheless w"1 is 7°nn like the 031 here.
4 According to the X"w mn (see footnote # 2) MooIN is asking a question on the X"2w1 who maintains that if 522 >
Y ann? °72 TR the 13127 maintain that it is 907, and in the Xn*>72 of 1"V the 7327 maintain that if y>n173% 72 IR Y22 w0 it
is MoX. The answer is that the 1121 here agree with w1 in the Xn>12 there.

1

TosfosInEnglish.com



7y 7"7 '010 X,70 210D .7"02

so now ®''1 of this Xn>72 agrees with the 1129 here that "1 is .’
In conclusion; according to the X"2w" the rule of AN 2"17 is even if yoannD 72 7R 931 W

mooIn anticipates a difficulty:
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And this which we learnt in a 73w in the end of the first P92 of 7790 noon, ‘a
yrnn after a ynnn does not cause a prohibition only according to the

percentage which is there’; the explanation of this mwn is -
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That if 72190 5w 298w fell into dough and leavened it, and this leavened dough

went ahead and fell into an even larger (than the first) dough and made it yn; the
rule is -
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If in the first sourdough (MIRw) there is sufficient 770 Y MKW to be y>un» the

second (larger) dough by itself, the second dough is 70X. This rule is valid -
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Even though this second 70°y became y»r through the "Rw of 719°R and also

through the first dough which was an°7 -
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And the X 1) there establishes that 71wn according to the 3129 here; however the
X"2w" taught that if yonna% °72 70K 522 w0 it is !

mooIN responds:
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3 Otherwise if the 1327 here maintain that even if y 137 >75 TR 232 w» it is MOK, it will come out that w"2 there (who

is 7°’nn) does not agree either with X" or the 7121 here.

¢ The first dough, since it became y»n (from the 7170 YW 7RW), can now be P M7 on its own other doughs (more

than the mXw, which it [the first dough] contains, can be y>»rn). Let us assume that an ounce of MR can be y°nnn a

two pound dough, and it fell into a one pound dough which became y»n. This pound of dough can now be y°nin a

three pound dough. The rule is if the first dough fell into a two pound dough (which the initial MW can be y*»n, the

second dough is 770OR; however if the first dough fell into a three pound dough and made it y»n it is not 710K, since

the original X of 7170 cannot be v »nn a three pound dough.

7 See previous footnote # 6. In this case the second dough is being made ynn by both the Mxw and the first dough,

and each of them (the "R and the first dough) can be y*nnn the second dough by itself. It is a case of >73 71X 252 w»

y°nna2, where the X"2wA ruled that it is 0, and the mawn there rules that it is Mox. See ‘Thinking it over’ # 2.

8 It cannot follow the view of 71¥°2X " here since he maintains X2 "X 117X 71X, and in the case there, the 171X was

the first Wi YW no°y.

9 We need to revise the scenario; the MW (which can be ynn two pounds) fell into a quarter pound dough (which

can be y»rn a pound of dough) and this 70°v fell into a two pound dough, so the 70°y alone cannot be yrn the

second dough and the mRw alone can be y 1 it, therefore it is 70X, [However if the 7o°y fell into a three pound
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The >'"9 answers; we can say that there (in 770) we are discussing a case
where for instance the first dough alone cannot be Y22 the second dough -

NINNY 273 Y N9 DY NNV
However the 72170 92 "xw is sufficient to be Y9712 the second dough.

SUMMARY
A"17 1s AN even if the MoK alone can be Y nrn, as long as the 707 alone can also
be v nrn. However if only the M10°X can be v nrn and not the 707 it is 70K,

THINKING IT OVER
1. How can we explain the two sides of the issue whether in a case where %22 w°
voana® 70 7R it should be 20 or MoR?

2. mdon asks a question from the X3 in 771mn.!% Seemingly we can differentiate
between our case (of P27 SW MRWY 72N YW NRW) where the o3 of 07 s
actually 70 (so therefore y>nna% >72 71X 922 W OX it is IMN), and the case there (of
n¥nnNIw no°y) where the 70 (the first 70°v) already became 10X (from the 5w MRw
7m17n), and in such a case even if yonnn% °72 AR 702 w0 it is still MOR, since the N7
was not 01 wan!!!

dough and made it y»nn (the MRw was v nnn two pounds and the 70°Y one pound) it is 2N since the XYW cannot be
yoann the entire 70°v.] However if it was like the case in footnote # 6 where both the MKW and the 179°Y can be y*nin
the second dough, it will be °nn as the X"aw" ruled.
10 See footnote # 7.
' See Ny Now and HRMW 737
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